8
Answersto questions

1. 0.171 + (-0.214 + 2m)
2. @ 0 (b) 1/6

T L

1
3. Eigenvalues 2 and %2. Eigenvect r% and { J (or any multiples of them)

a (){ 3} F} (b)§

1 o -9 Aw & .
5 @ —-—— 7 sint-———= cosat+ e (A cos/5t + Bsiny5t
@) 9 w'-2¢”+81 w* - 207 +81 ( )
(b) 1 icosSt
9 12
6. etlsint
0 t<0
7. (@) -1, Y b) et -2 c
@) ’ (b) © {(t—l)e't+e'2t o<t
0 t<0
(d { t-Det +e* 0<t<T
- (" -1e™® t>T
8. 13,334

9. Z(—lcosm + zisinﬂjsinne =
n=1 n 2 n~m 2

2 m+1 SIN@m— 1)0 13 n+ SIN2nE

=21 —Z( D

T m=1 (2m 1

10. (b) Saddles at (0, 0)£Z, 0), (0, 4).
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